—cm

3
5

3)6

—cm

2
)

@ 6

® T7em




Jof 7]orRseg Hhe A Let

e A4S

[
=

ot

2.

9- +4x%x3




- +8

2
5

50 3

5

2— =+
8

-

ul




4. e ARy Baele] A8 Toh e

12 2
(1)ET4T3 (2)357372
> =
> ™E: 22
1
12 ,1?2 1 1 1
1) 2 24+3="Sx-X>=—
()13 13x;4><3 13
1 1
2 23 1 1 23
(2)35-3-2—7)(3)(5—5
w718 9] 2 T, 23 - 1 = 22




o] Utro] F2a tYrch g Abgo] ZHA| &= B7]9 FA
Fobs Ao R HEE ZL o]k AQIZ] I EA|Q,
3 1 1 3
6— X — 6-+4x%x5 6-—X— X5
@) s X155 @ g X 1 ® § X1 %
6-—x4=+5 6=— x4+ -
@ e ® g X :

8

_ 3
Bl A A 60k A

4 4A7E e 6% x 4(kg) ©]1l,

oL 5 Yol A Ho] Lol Fuz
3 Aol 2 Bl w7]o] oFe

6% x4+5 (kg) YUtk

=

=




5 7 3
@ gfm @ 1—%cm ® 1§cm
@ 2§0m ® 3§cm
7




1
4

@ x9x7 =5

— [©

— ™







D

@ Sim

1

@ ?km
2

©) 1?km

1
@ 1?km

B

EAB] 7 7jo]R 722 6 ol Bz




]

)

Heo] dol7k 5 cmztH, ©

d
T2

S

_g]

T T+




